
■ 次のわり算をしましょう。

① 1.64 ÷ 0.002 = ⑨ 28.4 ÷ 0.04 =

② 6.86 ÷ 0.7 = ⑩ 4.4 ÷ 0.08 =

③ 0.144 ÷ 0.6 = ⑪ 0.14 ÷ 0.005 =

④ 3.66 ÷ 0.6 = ⑫ 20.1 ÷ 0.003 =

⑤ 0.92 ÷ 0.02 = ⑬ 26.7 ÷ 0.03 =

⑥ 26.4 ÷ 0.8 = ⑭ 0.294 ÷ 0.07 =

⑦ 0.156 ÷ 0.04 = ⑮ 0.513 ÷ 0.009 =

⑧ 3.8 ÷ 0.005 = ⑯ 85.5 ÷ 0.009 =
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■ 次のわり算をしましょう。

① 1.64 ÷ 0.002 = 820 ⑨ 28.4 ÷ 0.04 = 710

② 6.86 ÷ 0.7 = 9.8 ⑩ 4.4 ÷ 0.08 = 55

③ 0.144 ÷ 0.6 = 0.24 ⑪ 0.14 ÷ 0.005 = 28

④ 3.66 ÷ 0.6 = 6.1 ⑫ 20.1 ÷ 0.003 = 6700

⑤ 0.92 ÷ 0.02 = 46 ⑬ 26.7 ÷ 0.03 = 890

⑥ 26.4 ÷ 0.8 = 33 ⑭ 0.294 ÷ 0.07 = 4.2

⑦ 0.156 ÷ 0.04 = 3.9 ⑮ 0.513 ÷ 0.009 = 57

⑧ 3.8 ÷ 0.005 = 760 ⑯ 85.5 ÷ 0.009 = 9500
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